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Q1. 12
.- Which pair has polar covalent bond?

(A) O, and €1, (B) H,0and N, (C) HyOand CyHy (D) Hy0 and HE
1. Molarity is the number of moles of solute dissolved in:

(A) Tkg of solution (B) 100g of solvent (€ Idm ofsolvent (DY 1dm? of solution

L Tyndall effect is due to heam of light,

(A) blockage of () nen scanenng (C) scattering of (D) passing through

4. Formation of water form hydrogen and oxygen is:

(A ) redoy redction (B) acid base reaction  (C) neutralization (D) decomposition

5. Which is not an electrolytic cell?

(A) down'’s cell (13) galvanic cell (C) nelson's cell (1)) half cell

6, Sodium is extremely reactive:metal but it does not react directly with:

(A) nitrogen (B) hydrogen ) carbon (12) phospharus
7. Industrial chemistry deals with the manufacturing of compounds:

(A)in the laboratory (B) on micro scale

(C') on commerical scale (D) on domestic scale
8. Which is the most penetrating particle!

(A protor (B) electron (C) neutron (D) alpha particles
9 The amount of energy given out when an electron is added to an atom is called:

(A) lattice energy (B) 1onization energy  (C) electro-negativity (D) electron atfinity
10, Long form of periodic table was based upon the:

(A) mendeleev postulate (B) atomic number — (C) atomic mass (1) mass number
[1. Covalent bond involves the;

(A ) donation of electrons
(C) sharingof electrons
12, Which is an electron deficient molecule?

(AINI (B) By

(B) acceptance of electrons

(D) repulsion of electrons




